FRRBFEOLCERR

s —

BIEHE—HL BT

EANBAIREEEEES

(B) SH584H1H

(£) HH6E3H31H

=5 MIARHMR)

(B4 : [)
EyERIE LEERE(A) HIEESRE(B) ER(A)-(B)
PSSR B RING 9, 834, 362 10, 472, 434 -638,072
PEERAY —ERES NG 126, 760, 199 119,924, 276 6, 835, 923
SR AL EENING: 1,749, 761 1,629,188 120, 573
g (RBRTHISTE BRI 3,478, 241 3, 478, 241 0
EERETHEING 76, 361 20, 000 56, 361
2O 0 0 0
Y Y-ERESINGSET (1) 141, 898, 924 135, 524, 139 6,374,785
NG 104, 237, 601 98990, 074 5,247,527
; eSS 12,270, 002 11, 694, 339 575, 663
E ES50 11,022, 474 9,897,525 1,124,949
)] MBIEERER 9,558, 160 9,891,026 -332, 866
B e 2,993, 617 2 967,012 26, 605
;s)k 25 | EEMBE SR S AR -311,789 -292. 249 -19, 540
o | PR | xmimsam 0 0 0
EHEIEEIN 0 0 0
HOURTRERE 17,935 0 17,935
BURTEES I HBIBA 0 0 0
ZOMMOER 0 0 0
Y-EXESHEMET (2) 139, 788, 000 133,147,727 6, 640, 273
Y-EXESIERESR (3) = (1) - (2) 2,110,924 2,376,412 -265, 488
BALFISHBIEINZG 0 0 0
SR SRS 797 812 -15
:j Iy | B 0 0 0
p | & | SR Tl 0 0
R ZOMOY-EREBIMNE 353, 755 350, 670 3,085
& [goeREsNTEsET (4) 354, 552 351482 3,070
fﬁ THFIR 183, 960 204, 541 -20, 581
18 EURRAE Sl 0 0 0
) i T AT HTA 0 0 0
g) TothoY-EXEESNE R 201, 938 212, 465 -10, 527
Tl [p-exEmsrERmEt (5) 385, 898 417, 006 31,108
Y-EXEBIMNERERE (6) = (4) — (5) =31, 346 -65, 524 34,178
BEERESRE (7) = (3) + (6) 2,079,578 2,310, 888 -231,310
iR R e 469, 000 0 469, 000
MR EE RSB R UNZE 0 0 0
RAEEEREAETREESTHEING 0 0 0
Y | BEEEZ SR 0 0 0
# | EEEEs s 0 0 0
Y-EXAXDEHEASINE 0 0 0
ZOANDIFRIUNZES 0 0 0
E FERIIRZSET (8) 469, 000 0 469, 000
12 EARBHEALE 0 0 0
|| SRS 0 0 0
fﬂ Bl s HNIE - A5 0 0
; EEHIE SRR SR (BRE1%) 0 0
i EEmB & SR ET £ 1RER 469, 000 0 469, 000
PYESEES 0 0
H-EAXHRHRA LB 0 0
TOMOFFBIER 0 0
FBIERET (9) 469, 000 0 469, 000
FRISEERE (10) = (8) - (9) 0 0 0
LEBEBNERAE (11) = (7) + (10) 2,079,578 2,310, 888 -231,310
ii AUEARBUEENIERAERE (1 2) 49,672,927 47,362, 039 2,310, 888

1/2




FRRBFEOLCERR

LA 0 <

LERIEBEEIERAERE (13) = (11) + (12) 51, 752, 505 49, 672, 927 2,079,578
EREEEAEE (14) 0 0 0
TOAMOFEI REEAZE (1 5) 0 0 0
ZOMOIEIEFETZE (1 6) 0 0 0
RERGBEENIERAERE (17) = (13) + (14) + (15) — (16) 51, 752, 505 49, 672, 927 2,079, 578

2/2




